plication
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A model rocket is launched from a platform. Its flight path can
be represented by the refation 1 = —5¢% & 1007+ 230, where
# represents the height of the rocket in metres and f represents
time in seconds.

a) Factor to find the zeros

}\‘:.1 §§.—« g"ffi i&i}f}% < «%5@} \
;“'wgm‘?*‘““ o e i
S g % o : éﬁ” ,_/"j

4. Find the zeros from standard form — FACTOR first

a) y=x’—5x+4 b)y%2§?~4x-—30 .
A ?;wf 2\t - 7
X Ui~ /j

b) Fill in table using zeros and middle point

t h
wzﬂ vy ;
2422 | fo] _s(0)? (0210} +pro = —Slico)4lo0etee
9 |nlo =12
Sketch Ro i
3 o
‘3,* ’\fii: ; wafie « T ST ‘n
1
)
et i
— %g et K%%v«e’é%)

¢) What is the height of the platform?
tule t=o
{2 o
2O m

d) What is the maximur height?

‘ /"fﬁﬁ m

6 e) How long is the rocket in the air?

\
[ géﬁx*‘{j

[}

f) How high is the rocket at 10 sec’7

5. Identify what form each parabola isinandwhat is
characteristic that can easily be seen from that form

b.y=2(x+4)(x=9)

ay=3x+5-x"
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